1/11	ltin	lina	h	1	to	7	(E)
IVI U.	աք	lying	υy	T	$\iota o$	/	$(\Gamma)$

Name:	Date:	Score:

## Calculate each product.

$$3 \times 7 =$$
  $7 \times 7 =$   $4 \times 1 =$ 

$$4 \times 7 = \boxed{ 1 \times 2 = \boxed{ }}$$

$$1 \times 6 = \boxed{ 5 \times 3 = \boxed{ }}$$

$$3 \times 3 = \boxed{ 7 \times 6 = \boxed{ }}$$

$$3 \times 6 = \boxed{\phantom{000}} 7 \times 4 = \boxed{\phantom{000}}$$

$$2 \times 7 = \boxed{\qquad} 6 \times 4 = \boxed{\qquad}$$

$$6 \times 3 =$$
  $3 \times 4 =$ 

$$6 \times 6 =$$
  $7 \times 3 =$ 

$$2 \times 3 =$$
  $6 \times 7 =$   $7 \times 2 =$   $3 \times 1 =$ 

$$7 \times 5 =$$
  $5 \times 6 =$   $1 \times 1 =$   $6 \times 5 =$ 

$$3 \times 5 =$$
  $3 \times 2 =$ 

$$1 \times 5 = \boxed{ } \qquad 4 \times 2 = \boxed{ }$$

$$1 \times 4 = \boxed{\phantom{0}}$$
  $4 \times$ 

$$5 \times 2 =$$

$$1 \times 7 = \boxed{\phantom{0}}$$
$$5 \times 1 = \boxed{\phantom{0}}$$

$$7 \times 7 = \square$$

$$1 \times 2 =$$

$$7 \times 4 =$$

$$3 \times 4 =$$

$$7 \times 3 =$$

$$6 \times 7 =$$

$$3 \times 1 =$$

$$2 \times 2 =$$

$$5 \times 5 =$$

$$5 \times 6 =$$

$$6 \times 5 =$$

$$2 \times 4 =$$

$$3 \times 2 =$$

$$3 \times 2 =$$

$$4 \times 2 =$$

$$5 \times 7 =$$

$$6 \times 2 =$$

$$4 \times 3 =$$

$$6 \times 1 =$$
 $2 \times 6 =$ 

$$1 \times 6 =$$

$$4 \times 1 =$$

$$4 \times 5 =$$

$$6 \times 5 =$$

$$5 \times 6 = \boxed{ }$$

$$6 \times 2 = \boxed{ }$$

$$7 \times 3 =$$

$$4 \times 6 =$$

$$1 \times 4 = \boxed{\phantom{0}}$$

$$5 \times 5 =$$

$$5 \times 2 =$$

$$1 \times 3 =$$

$$3 \times 1 =$$

$$3 \times 2 =$$

$$6 \times 7 = \boxed{2 \times 2 = \boxed{}}$$

$$1 \times 7 =$$

$$7 \times 2 = \boxed{\phantom{0}}$$

$$5 \times 3 =$$

$$1 \times 1 =$$

$$1 \times 5 =$$

$$4 \times 7 =$$

$$5 \times 4 = \boxed{ }$$

$$4 \times 2 = \boxed{ }$$

$$7 \times 6 =$$

$$2 \times 4 =$$

$$3 \times 4 =$$

$$5 \times 1 =$$

$$7 \times 5 =$$

$$2 \times 1 =$$

$$3 \times 5 =$$

$$3 \times 3 =$$

$$7 \times 1 =$$

$$6 \times 6 =$$

$$2 \times 3 =$$

$$7 \times 4 =$$

$$6 \times 4 =$$

$$4 \times 3 =$$

$$5 \times 7 =$$

$$3 \times 7 =$$

$$6 \times 3 =$$

$$6 \times 1 =$$

$$3 \times 6 =$$

$$2 \times 6 =$$

$$2 \times 7 =$$

$$2 \times 5 =$$

$$1 \times 2 =$$

$$7 \times 7 =$$

$$4 \times 4 =$$

$$3 \times 6 =$$

$$5 \times 3 =$$